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E. Verify that the function y =+7—t* is a solution to the differential equation % W . [5 points]
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2. Write another (different) solution to the differential equation % = — . [2 points]
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wheve € any constant

3. Verify that the function y =sin*7 is a solution to the initial value problem P =4ycott, with
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1. Verify that the function y =+/9 —t* is a solution to the differential equation % = 2 . [5 points]
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2, Write another (different) solution to the differential equation —%— o . [2 points]
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where C s g constant
3. Verify that the function y = cos*¢ is a solution to the initial value problem d—t——4ytant with
y(%}:% [8 points]
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